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1. (20 77) Explain the following terms:
a) CPU
b) URL
c) Bandwidth
d)  Compiler
e)  Algorithm
2. (10 77) If you changed the length of the bit strings being used to represent integers in binary from 4 bits
to 5 bits, what change would be made in the value of the largest integer you could represent? What if
you were using two’s complement notation?
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5. BRI AAL 2 gl Line ePR H 7 > it - B RIATEOR K HC05¢ (business model) 3k =
Sl Fen™ R o ik L ot Line & B+ RFp G AR R IR
FHSAPRFeEFIRAR B EBFE R F 2B (2007 )

6. TRTFFHEFEFILAREF 3 7 R L BLIFTOIRTS > R

(@) Fcfrp = #2237 NFC (Near Field Communication) {7 & i A< PRA% » ¢ 78 PRF%
BEP D ERFEATETRAREFRLEPR?(GA)

(b) 3} O20 (Online to offline)? & — B &+ :p 020 hF Z g * ? (5 4)

(c) ™3} 4% 51 i it (Search Engine Optimization, SEO) ? 48 51 & i it 4ofe B2 8 ¢
¥ e i 74§05 2 (10 A)

731 ¥ ¥4 % (Business Intelligence) ? H &2 T & 2. B chBf % 5 @2 (10 4)




